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OPTICAL PHOTOGRAPHING ASSEMBLY, IMAGE CAPTURING APPARATUS AND
ELECTRONIC DEVICE
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An optical photographing assembly includes, in order from an object side to an image side along an
optical axis, a first lens element, a second lens element, a third lens element, a fourth lens element and a
fifth lens element. The first lens element has positive refractive power. At least one of an object-side surface
and an image-side surface of the third lens element is aspheric. At least one of an object-side surface and an
image-side surface of the fourth lens element is aspheric. Atleast one of an object-side surface and an image-
side surface of the fifth lens element is aspheric and includes at least one inflection point. When the specific
conditions of the optical photographing assembly are satisfied, both of the telephoto function and compact

size characteristic can be obtained.
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R B EPE
k@ #EHERE S DK
Al B FEIEBREREL -
[0073] E—-EFHPINLBEGREMET  KEBEEGR
MERNEESI XEFERARENEE(f-number)

BI8H
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o HEEGRFHEFTRRWRAN—FRBHFOV » HEE
T :f=10.00 mm; Fno = 2.80; DIKHFOV = 14.0

B oo
[0074] 2 —EHAINCEFZGRMME T > B 2 FH
1200 BLENREB V2 » BEEZFHI30AKFRHEEV3 » 5

WEFE 40 EHMREEB VL Hia TyIERAGFV2=20.4;
V3 =20.4; DIk V4 =20.4-

[0075] ZE—EHWAINNZBEGERHEET > LEHEER
A E ATHASFOV » HEE FTHEME : tan(FOV) =
0.53 -

[0076] ZE—EHRAIWLEFEGRREF £ _EH
12055 = $H 130t LRYHERIEERERT23 » 28 —F 85
11053 FREERCTL » HimE MFIRA © T23/CT1 =
0.07 -

[0077] ZE—BEHAINKEEBEEGERKEF £ ERY
HIREI2INEHEPLRERI  FE_EHEMAIRE 12209 #3
PRERL HmE Ny fFHRAE - (R3-R4)/(R3+R4)=-0.48 -

[0078] H—EHAINAZEGRMRET  E=FHY
HIREIBINHERPLREBRS  F=EHEGAFE1I3289 83
LRERG6 HimeE ~ylfERAF - (R5+R6)/(R5-R6) =-0.33 -

[0079] ZHE—EMAILERGRHHEF  KEEGER
MHAREERI FHNERYAIRE 141 HEFREBRT
HR NoI e : f/R7 = -4.98 ¢

[0080] 2 —E MG XLBHEERKMET  HE—FH

s

BI9H
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IO ERSI > B EHI200EESI » ZHE TFIE
# 0 |f1/f2] = 0.87 -

[0081] ZE—EMAINEEREGREMAT  HEEGER
GHEEST BIEHEI40NEESI  EAEHE150
WEEELS > HmaE THIGRE : f/f4 = -0.57 5 DIRI/ES =
-0.31 «

[0082] ZE—EMOILBEGRAMKMEAT B —FH
110 EEEE ST » B EHEI200EESNR  LEBEBRGK
MHRgEE L - HiwmeE TyIEA - [f/f1[+][f/f2] = 3.97 -

[0083] ZE—EHAOIMKEBEGRAKEAT  E—FR
110 X8 EEER/CTL > B FEHI1200 08 EWEE
BCT2  E=ZFHIZ0MANEH LHEERCTI  FIHMEHR140
MRXE P EERCT4 EAERISONAB EWEER
CTs » & & & N AXteh EE E/&MES ICT(H
SCT=CT1+CT2+CT3+CT4+CT5) » H 2 F 5 fE & -
CT1/(ECT-CT1) = 1.29 »

[0084) ZE—EMAINALZEGRKER  FFBHNRHK
i FEEAREMBICT - B8 —FH110HEE “FEHFI120558
o A EREREATI2 - 5 " FEHFI20HEE = FH 1305150
i FRIMEIEEE R T23 » B HE 130 HE VI FE HE140 FA LB
FRIMBEEHSTI4 > FEUEHI40HERFHREISONLE £
HWIGEEBE R T45 » & ZMH AR 3E 8% H L Bl b R PR BR B iy AT
BYAT(BISAT=T12+T23+T34+T45) » EHE FFIELE

LCT/Z2AT = 4.39

F20H
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[0085] 25— EMAIWLERGRMEF  LEHER
MAEAWEESD tE2EERMEANERESRIngH  HfH
A NHIfRA - f/ImgH = 3.97 -

[0086] ELEZMEBI9E @ RERE—ERAIFILER
BRAFET2HEYREE - HEIIE R 1 > & & H IR L
BREBELIHRBYNERYARE(E-BROF > BHE 2R
WEIFREIIDEZF PR E R ORBE 170 ZERE
flRE(E—ERO+  EBELEHGAREIS52)R6E L
WEMBTD  XE2FGRAMENEERT > EmE THIf#
# : f/TD = 1.97 -

[0087) 25 —E AR EE BTG RMAEF » JKE100
ERN LR BT AEHITONEESHERE(E— Y
o EELERGMAIREIS2)ROtE ERERERSD » E#
Rt EI RO BEYNEEYRIREGE B+ - 18
E—ZHEYHAIREIIDEEHE R REEIRGE 170
MZEFRGARE(E -GG F > EEALZHREBHEIRELIS2)
FROtE ERYBEBERTD - Hiwm @ ToIkR#&E  SD/TD =0.86 -

[0088] ZE—EHOINNEBFEGRAMMET  BHEFIBK

EEBREREEITONEEGHEECE -t > 5

LEFRGARELIS2)ERGEI70R b ERYEBERBL -
EEFIREHEBEIWEEYNEEYARE (S — B Ko
g FEE - E S AR 111) 835 85 oy L Bl & B T K 5
EITONZEHRGAURE(E—ERYT > HELEHGAE
E152)FotE ERYBEEERTD > HfE Ty MF : BL/TD =

B21HE

=
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W2 FHIMEME © Yo/Yi = 1.06
[0091] % —FHOIKLERGRKET  BHOFE
WMEIEHRGHEETHREAERERE—ERHAIT - 5
5 EEYHEELL) S Ymax  BENFTEYHET R &
BIFE P BN RLR(E—ERYIT > 55 = B8 EM
FHEI132)EYmin> EmE T/ Ymax/Ymin=1.30 -
[0092] %5 —EHEHINI S 2EERAET > B80T
B R T BEI100THREGERHETH WK
@ HITHWEAHFHBVRO BREHTHENARFEES
VRI EHEE TYIMEHE - VRO =64.2 ;5 DA VRI = 64.2 -
[003] FR&ZEEI10E » F—HHINLERERK
o B EEYEIRE 1 1E N E 100568 i IS
Dris 85— EHEEETII2F LB 1005 Y8 -y kS
Dr2s » H 2 FHIMEHF 1 [Drls/Dr2s| = 0.45

[0094] FR&ZHEBI9E B EHRAKLERGRK

Sk - YR BT T (BIRR 8 180) R fT RSB 88 2 0 8 5 [0 HY

@ s wro @R (B0 FTR BT L
FHNEESWP X2EGARENEEST EHET
F & - (WPO+WPI)/f=1.01 -

[0095) Fl&&2BE198 @ F—FHAIKCERGRM
SE R Wi TS T 1 (BB 418 0) BEL & e B 5T 44 (BB 8
190) 7 % 8 _E & 79 I8 BE Bk S DP > ¥ %% X 59 T ¢ (BN 3% 8%
180)F/TRBEHEE I HFHMNEESWPO » B K& T4
(BIBE8190) FITRBHE LM HNEES WP HWE

B2BH
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T%EE - DP/(WPO+WPI) = 0.59 -

[0096] F#C &

22 17

= W\

TR —DIRFE -

x— B —EH
f(EEFR) = 10.00 mm ~ Fno(GGHEI{E) = 2.80 ~ HFOV(4RiRA) = 14.0 &£
R PR EE | ME | R | aERE | £E
0 wEY FHE IR
1 i H 5.000 bisegr 1.517 64.2 -
2 ISTE] 1.027
3 B i TH -0.727
4 B 2.583 ASP 2.335 B 1.544 55.9 4.70
5 -175.942 ASP 0.346
6 HEEE 2232 ASP 0.400 ] 7 1.660 20.4 -5.41
’ 7 -6.368 ASP 0.165
8 B=EE 9.730 ASP 0.494 )z 1.660 20.4 9.85
9 -19.220 ASP 0.375
10 EIEE -2.008 ASP 0.511 R 1.660 20.4 -17.67
11 2.671 ASP 0.057
12 BHEE 95.590 ASP 0.400 2] 23 1.544 55.9 -31.91
13 14.661 ASP 0.200
14 LT ~H 0.210 g 1.517 64.2 -
15 HE 0.200
16 o) TH 5.100 Heag 1.517 64.2 - -
17 A 0.635
18 R ABTE Z5TH] -
2R (d-line) £ 587.6 nm
. (180 ~ 190)HE EE AT
=~ FREKERE
Z<IH 4 5 6 7 8
= 3.4365E-01 -9.9000E+01 -1.3577E+01 -5.6125E+01 2.8814E+01
Ad= -2.3887E-03 2.2264E-02 1.0524E-01 3.2089E-01 1.3280E-01
A6 = 1.2932E-05 -9.0703E-04 -1.2145E-01 -4.7020E-01 -3.5569E-01
A8 = -2.8993E-04 -1.2118E-02 6.5451E-02 4.2664E-01 3.8286E-01
Al0= 7.6825E-05 8.9939E-03 -1.4092E-02 -2.6340E-01 -2.6949E-01
Al2= -1.4469E-05 -1.8870E-03 4.2756E-04 1.0189E-01 1.1273E-01
Al4= -1.7223E-02 -1.9250E-02
=M 9 10 11 12 13
= 4.1023E+01 -3.2155E+00 -1.8979E+00 8.9439E+01 7.2076E+01
Ad= 7.4403E-03 6.1164E-02 3.1725E-02 -1.4698E-01 -1.1214E-01

B24H
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SAE TR BRI E B A0 — R e R
FEE FAAREAEEAKRFBE ERIXERERR
48 ) B 5 SR A (Infinity) BOER 2 - (@B R 76 6 o A 1B > 28
IBEHEEAKRFEBE ERALEEGRKAYES
400 mm Ay ERE « G EUR T H HRE - FE3AR T > B
BT 16 51 B O BB 1 R M S FE W B E AR AR R R B B R
280 - SEE200 B —EH210 - 5 EH220 - F =B
230 S PUEHE240 ~ B A EH250 W ITTHE260 - BEH290

@ UERREBE270 HALBEERGETIHEBRAH
(210-250) » F 3% 2 55 45 55 #0470 A2 = A8 5 10 55 85 P 73 S
LEEA AT -

[0100) % —ZE#E210BEEAFEREIF N AREBME
HEYREE2IBNE LEURE228MNE  LERE
BRI - BT BB 0RBENESS A
RS B H2108E T EHE20MEEEBE > H3AH
o B2 I0 T AN THENAE LTINS B8

@ 200 EEBE - % TEH220 - HSEH230 - HNEH
24052 F B H250 T~ H RN B H -

(0101] % “FH220EEREH N ESHEBME -
HEYEIET22IBME LeNRE228ME - LESE
BR T -

[0102) H=FE#E20EFERT N LBEBHE
EYEIEE B ME > LENEE2BME 0 &SI
BRI -
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(0103] HINEH240EE RN EBEBKE »
HYMEE 241 BME  LeUXRE428NEH  LEBE
BRE -

[0104] HHBHE20EEERTH > LBEEBME »
HEEEE2S I BOE HeUEE 28ME - L ESE
BRI - B4 EHEHSOMYAIEE2S 1 REERE252
EaLSEL— K-

[0105] Y TTEE260BIEMME » HRBHNE A BH

@ 250RFBEE2IMAFAPELEBBEERHANERS -

[0106] 25 = & 6 B 9 ¢ 2 8 5 R 5 A0 7 /L & 70 78 5
280~ 290 » EEBIGHAE - BE280 7 HS WK 5T
P B RSB (R AR B B 20 0 B S8 £ (58 B
Bl HEHREEGRA KA L) BH20THEE
B I B TT M 0 BR B RN IR K TG E26 0 B B 48 T 27 0 T I L B
(B EHAT > HERBREAGEGEH L) -

[0107] HEEZHETIIR=ZULERD -

-

® £= B _HI
f(EEE) = 10.00 mm / 9.79 mm ~ Fno(3EEE) = 2.80 ~ HFOV(&EfiRfA) = 14.1 & / 13.9 &
EE
ZFHE R4 e e | e e | ME | TTEIER | EEURE | EER
B—E | FMUE
0 HEY ~H fEIR 400.000
1 iR TH 5.000 s 1.847 23.8
2 FH 1.426
3 SR H -0.726
4 E—EE | 2.608 ASP 2.077 ol 1.544 55.9 4.60
5 -43.274 ASP 0.375 0.428
6 BB | 2113 ASP 0.468 g2z 74 1.660 204 | -522
7 -5.950 ASP 0.141
8 B=3EHE | 8.592 ASP 0.679 z)ie 1.660 20.4 6.72
9 -8.871 ASP 0.329

H27TH
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10 | ZBIuEsR | -1.908 ASP 0.529 preliz g 1.615 26.0 -6.69
11 -3.935 ASP 0.118
12 | 5EAFEH | 11.858 ASP 0.442 il S 1.544 55.9 84.15
13 15.796 ASP 0.200
14 | EHRTH TH 0.210 HiE 1.517 64.2 -
15 TH 0.200
16 rEE EE 5.100 s 1.517 64.2 -
17 7RE 0.667
18 R ITE -
ZE R (d-line)E 587.6 nm
—RESH(280 ~ 290)HEEE AT
f 8 HFOV HAZEA3BIRYEER Infinity B2 400mm AR ik
=M -~ FEERERE
’ . = 4 5 6 7 8
= 3.2369E-01 9.9000E+01 -1.3081E+01 -4.6138E+01 2.7888E+01
Ad= -2.2324E-03 1.9004E-02 7.5068E-02 2.8469E-01 7.8784E-02
A6 = 1.1254E-04 -1.4428E-03 -6.2372E-02 -3.6842E-01 -2.3684E-01
A8 = -1.9369E-04 6.0405E-04 2.9471E-02 3.0495E-01 2.2073E-01
Al0= 4.8890E-05 -1.9373E-04 -6.4473E-03 -1.7173E-01 -1.2780E-01
Al2= -5.6958E-06 2.9910E-04 5.0905E-04 5.9366E-02 4.6476E-02
Ald= -8.8332E-03 -7.1898E-03
F=H 9 10 11 12 13
= 3.0396E+01 -3.5850E+00 -1.3708E+01 -8.1028E+00 7.2976E+01
Ad= -5.6339E-02 2.2869E-02 3.1945E-02 -1.0860E-01 -8.6809E-02
A6= -1.2101E-03 -3.3768E-03 4.0545E-02 6.9059E-02 3.5208E-02
A8= 3.6543E-02 5.1575E-02 -6.4039E-02 -8.3131E-02 -2.8802E-02
. Al0= -6.2712E-03 -5.0930E-02 3.4189E-02 4.9523E-02 1.6372E-02
Al2= -6.9518E-03 1.8432E-02 -8.6884E-03 -1.2168E-02 -4.4883E-03
Ald= 2.5174E-03 -2.8196E-03 8.6650E-04 1.0877E-03 4.9911E-04
[0108] ZE_—EHEHI+ » FEFERENHBEAFEXNRRUWE

—EHREANEA - L5 TRBEPELHERE—FHOIE
HHE-BEA T EEME - LA MIELR - H
MEBENEG BEEES B BYERInfinity 400mm

o

C,mlr

R HUE -

BF2RE
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(01091 Z54% > HMNE_EHAIF - E—FEHR2108%
BEHEZEH  NE-VHEBIESER B FH2108HE
TES2200 0 EAOFEIRERESTI2I > EYHEF400mm
B> B —F 2108 ZFEF220/0 v LU RIIREEBE R
Ti12m » HEAFTI2/TI2mfmE FRFPHEE -

[0110] FEER=ERRUAHEH T EE

% _ Bl
f [mm] 10.00/9.79 SCT/EAT 436/4.13
Fno 2.80 f/imgH 3.97/3.89
HFOV [[] 14.1/13.9 f/TD 1.94/1.88
V2 20.4 SD/TD 0.86/0.86
V3 20.4 BL/TD 1.24/122
V4 26.0 TD/TP1 1.03/1.04
tan(FOV) 0.54/0.53 TD/TP2 1.01/1.02
T23/CT1 0.07 Yo/Yi 1.05/1.06
(R3-R4)/(R3+R4) -0.48 Ymax/Ymin 1.26/1.28
(R5+R6)/(R5-R6) -0.02 VRO 23.8
f/R7 -5.24/-5.13 VRI 64.2
If1/£2| 0.88 T12i/T12m 0.88
f/f4 -1.49/-1.46 IDrls/Dr2s| 0.54
ff5 0.12/0.12 (WPO+WPIY/f 1.01/1.03
|E/£1 [+ E/£2] 4.09/4.01 DP/(WPO+WPI) 0.64/ 0.65
. CT1/(ZCT-CT1) 0.98
[0111] HE&SGZ2WBEIBE LEICHEH » HTE3BE K

553 CIE 4 37 4 TR 253 A B 45 — 5 16 1 9 S 52 4 1 R M
B AR R R E R OEE280 - 200472 H
BB 3 CHE v O BE 280 ~ 200 3 B B B8 5 8 |- 3t 3% = o
S REH280 20040 F > R EAREVREZEHRFHE -
5 5 A S 5 B 4 % AL A OO B BRI R e A R e
27089 HH BT S S B 8 A 7 BB 4 95 R T 2 L O T £

F29H

- %538
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BREFEE - EEIRNE 0 E3BET 0 EYERH
5%H@%mmk%%—ﬂ%%@E@%ﬁ%ﬁ#@%ﬁ
200 H B ) — H B S i 1A B 8 2 e g 1R — U -

 <mEEmeS

[0112]) E2RESABREOE  HPESABERIKE
ERNE S EEAN—EAE ARG TEE - E6E
e T A R B R B A BRE ~ (R E -
55 ATBITT A+ 55 = B 10 5 B A8 R 46 T 0 L 3 e
LS 300 - S EEII0 - TEHI20 -
T 330 HIIEEI40 HABHIS0 WHITTAICO0 -
B 390 LR B (R 370 + B o o B 58 A A0 o 3 48 48 B
BT (310-350) + FL K 8 6 A8 o £ AR 0 5B T
FSE Bl b B — 7 A -

[0113] % —B#310AEERTS  ERMEHE -
HMRES LB OE  EeRRE 128 ME - 1E 8
SR -

[0114) % - BH320AEERF ERBENE -
Ky RE32IBMNE  HENREI228ME  BERE
R -

[0115) B=BH330AAEREFH  ABBEHE -
oy EEEI A ME  EAREIEMNE - 1E B
R -

(0116] HIIEH3I40RE AR - ERBBEHE -

1]
i)

e

F30E
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HEYEIREI4BMNE  HEMEE428NE I ESHE
BRE -

(0117) BHEBHEISOEETEEIF - LEHEBHE -
HYEREISIBME  SERAXEEIS2BMNE > RSk
BT - B4k A BHEISOMYEREIS RIEMRES2
G B A — R -

[0118] W THI60BHKMHE » ERBEREREH
3S0RFGE3T0M B RS E 2R ERKANEE -

[0119]
390 HEIIEME - BE3900 RS 40K & T4
AU T 443 6.0 B i (8 T 3.7 0 Pl Y S 8 = (

pofe —

55

ERCEFGRHMEAIEE L) -

At — B

5B

EHAIBNCEEGRMAAEATE S HEE
X B

HEBIF o &

X

[0120] BHEAZBTIERALLURKERN -
®A - FE=FEHEH
f(EHF) = 10.00 mm ~ Fno(O%EEE) = 2.80 ~ HFOV(&iRA) = 14.1 &£

FRIH HEERPE EE ME FER | BEURE | IR
0 HEY) TE fER
1 HEE I~ -0.727

. 2 B 2.583 ASP 2.335 2] S 1.544 55.9 4.70

3 -175.942 ASP 0.346
4 EEE 2232 ASP 0.400 piili d 1.660 20.4 -5.41
5 -6.368 ASP 0.165
6 B 9.730 ASP 0.494 #HR 1.660 20.4 9.85
7 -19.220 ASP 0.375
8 HEIESE -2.008 ASP 0.511 B 1.660 20.4 -17.67
9 2.671 ASP 0.057
10 L Fakviii) 95.590 ASP 0.400 g 1.544 55.9 -31.91
11 14.661 ASP 0.200
12 BT ~HE 0.210 58 1.517 64.2
13 7STE] 0.200
14 MR TH 5.100 s 1.517 64.2
15 STE 0.605

H31E

=~
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16 I5¢ELE] FH -
52 B (d-line) S 587.6 nm
PR (390)F EE R HH
F N~ FEERERE
~ = 2 3 4 5 6
k= 3.4365E-01 -9.9000E+01 J1.3577E+01 5.6125E+01 2.8814E+01
Ad= 2.3887B-03 2.2264E-02 1.0524E-01 32089E-01 1.3280E-01
AG= 1.2932E-05 29.0703E-04 -1.2145E-01 -4.7020E-01 3.5569E-01
A8 = 2.8993E-04 -1.2118B-02 6.5451E-02 42664E-01 3.8286E-01
Al0 = 7.6825E-05 8.9939E-03 -1.4092E-02 22.6340E-01 -2.6949E-01
Al2 = 11.4469E-05 -1.8870E-03 4.2756E-04 1.0189E-01 1.1273E-01
Ald= -1.7223E-02 -1.9250E-02
. . =H 7 8 9 10 11

- 4.1023E+01 -3.2155B+00 -1.8979E+00 8.9439E+01 72076E+01
A4= 7.4403E-03 6.1164E-02 3.1725E-02 -1.4698E-01 _1.1214E-01
A6= “1.1714E-01 -1.4157E-01 -1.7387E-02 1.0666E-01 6.5071E-02
A8 = 1.2701E-01 2.1595E-01 3 2344E-02 -8.9684E-02 4.6684E-02
A10 = -3.9988E-02 “1.4170B-01 2.8165E-02 4.1819E-02 2.2430E-02
Al2= -5.3049E-03 4.2022E-02 1.0910B-02 7.7463E-03 5.6644E-03
Ald= 4.2574E-03 -4.7881E-03 -1.6218E-03 3.9728E-04 5.8335E-04

[0121) E=7F

B R o JEERTE B AR U7 R SRR UGS

—BEEAIER - t4 > TR2ENEEEHWE —F HAIHE
® 7 muFmLUEL-
[0122] FL&RA KR ANFEEL TIIEE
BE=ghp

f [mm] 10.00 ICT/ZAT 439

Fno 2.80 f/ImgH 3.97

HFOV [] 14.1 f/TD 1.97

V2 20.4 SD/TD 0.86

V3 20.4 BL/TD 1.24
V4 20.4 TD/TPI -

tan(FOV) 0.54 TD/TP2 1.00

T23/CT1 0.07 Yo/Yi 1.06

(R3-R4)/(R3+R4) -0.48 Ymax/Ymin 1.29
(R5+R6)/(R5-R6) -0.33 VRO -

$B32H
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f/R7 -4.98 VRI 64.2
[f1/£2] 0.87 T12i/T12m
f/f4 -0.57 ' [Dr1s/Dr2s| 0.45
£/£5 -0.31 (WPO+WPI)/f
[f/£1]+|f/£2] 3.97 DP/(WPO+WPI)
CT1/(ZCT-CT1) 1.29

[0123] B A&Z2IRESBE @ H@RKRESAEE =

BRI EECRAKMERERAEREZE T AN ER
390/, EE - BESBEIFHBEHFEIIONIEEEIREE Ltk

Y A RESE300/HE » ZEEENRERRERE HAXTH -
EARKEERGRFEN AN ALRER RGN ER
37089 B LB\ AN G BEHNE LR E

LERETHE -

V8

<5 U 5 it 1>

[0124) FH2RBETEREIE  HEPETEBGRKREAR
HHENERAN —BELE2EERARMANRER  H3E
@ LELRFEENEHINEKE  GHEEHRE- HE
TEWH > B ERAICERGRRAEDEEGAKE
WA S B A00 « E—FEHAL0 - FEFEHA20 - B=
EHEA30 - BIUEEA40 - FEABEHFE4S0 - BHITH460LL K
REE410  HET X EERAREATESMBB AR
(410-450) » HEER G R A b F Z A8 A0 A 75 57 1 52 S

LB EE-ERMERE -
[0125) S —ZEHAI0EEFERERN EBBEBME
HYEEEAIGYE EGARE4L2BNE 5B IFE

E33H
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29

[0126] %5 —EFEA20EHREN T > AREEME -
HyfiRm421{ME > EEAF@42228 08 > LEKIE
BRIE -

[0127) ZE=FH430EFIEREIT N > EREBME
HYHFRE31IRLE  EEAFRE432B0E > LERIE
K -

[0128] ZBNZEHA440BEE AR EREBME -
HYHxE441IRBME HEGAFRE442E5ME > LERIE
K -

[0129] 2 AEHHASOERIERET L > EREBME -
HYypAlRE4s1ROE - HEAREAS2RME > 1L &8I

BT - B B EHFHASONYAIREAS REBHAIZEE4S2

EEEES—KEF -
[0130] JEXTH460RHHMME » ARENBELEHR
450K HEGHEATOM BN ELEFEGARMENERE -
[0131] HEE2R TIIREIURE/N -

=t~ BEE Y
fEEE) = 10.00 mm ~ Fno(G¢EHE) = 2.80 ~ HFOV(4PiRA) = 14.1 £
eS| HHSRPR EE ME | EE | EERE | £IE
0 HEY TH R
1 KE I -0.413
2 B 3.202 ASP 1.676 B 1.544 55.9 4.00
3 -5.549 ASP 0.222
4 = -1.975 ASP 0.832 YRR 1.639 23.5 -4.45
5 -7.515 ASP 0.148
6 BEEE 10.730 ASP 0.915 Pl s 1.660 20.4 322
7 -2.561 ASP 0.100
8 EIEE -6.710 ASP 0.500 il S 1.639 23.5 -2.80

%34 H
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9 2.508 ASP 0.555
4 10 R abioti) 4.237 ASP 0.561 pzliE s 1.544 55.9 30.07
11 5.453 ASP 0.500
12 VBT ZRE] 0.200 HoHE 1.517 64.2 -
13 H 4233
14 B EE H -
2R (d-line) 587.6 nm
= /\ ~ FEEREREL
F=E 2 3 4 5 6 .
= -7.5216E-01 -1.5318E+00 -7.7246E+00 -9.9000E+01 2.7030E+01
A4 = -5.6388E-04 3.5825E-02 5.5410E-02 9.2546E-02 -1.8601E-02
A6= -8.7061E-04 -2.3164E-02 -3.8295E-02 -2.3575E-02 3.2093E-02
A8 = -4.1063E-05 6.8588E-03 1.3530E-02 -2.0280E-02 -2.6895E-02
) . Al0= 1.7746E-05 -1.4079E-03 -2.8451E-03 1.2971E-02 3.2294E-03
Al2= -1.6361E-05 1.5797E-04 3.1215E-04 -2.9750E-03 1.9362E-03
Al4= 3.2115E-04 -3.7463E-04
ZEH 7 8 9 10 11
= -3.5899E+00 -5.1682E+00 -1.5545E+00 -1.9541E+01 4.3337E+00
Ad= 2.5917E-02 6.7838E-02 -4.6324E-02 -5.1589E-02 -6.2643E-02
A6 = 5.8681E-03 -4.9099E-02 -6.0584E-03 -1.1974E-02 4.3553E-03
A8 = -2.0723E-02 1.2250E-02 1.2653E-02 7.5396E-03 -7.8621E-04
Al0= 1.0425E-02 -1.3325E-03 -7.1867E-03 -3.5774E-03 4.4819E-04
Al2= -2.2330E-03 1.5795E-04 1.7733E-03 9.0815E-04 -8.8343E-05
Al4= 2.0654E-04 -4.0985E-06
® (0132] &5 g il R+ FRERTE A9 43 07 12 K R R AIES
— BRI - A TRSHEER FHEE — & i fl 4
& > FEEAN N RAEE L -
[0133] &Rt RF/\AHEEL T I EE
25 09 E i 4
f [mm] 10.00 ICT/ZAT 437
Fno 2.80 f/ImgH 3.97
HFOV [E£] 14.1 fITD 1.81
V2 23.5 SD/TD 0.93
V3 20.4 BL/TD 0.90
V4 23.5 TD/TP1 -

LR
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tan(FOV) 0.53 TD/TP2 -
T23/CT1 0.09 Yo/Yi 1.02
(R3-R4)/(R3+R4) -0.58 Ymax/Ymin 1.17
(R5+R6)/(R5-R6) 0.61 VRO -
f/R7 -1.49 VRI -
[f1/£2 0.90 T121/T12m
f/t4 -3.57 |Dr1s/Dr2s| 0.33
/15 0.33 (WPO+WPIY/f
[f/£1|+H /2 4.74 DP/(WPO+WPI)
CT1/(ZCT-CT1) 0.60
<5 nE >

[0134] 2 EEOE RS 10E » HrHHEIEE T EEA
S E I LR R G R RN TER 5106 H
EELRFBELEEOINRE SR THERE - fE
O T4 - 55 T E HEBURG SLE R A B E R B
WOLEE EEES00 - BE—EHS10 ~ FEHFHS20 ~ F=
:Eé%ﬁo‘%lﬂliﬁ%MO‘%ﬂi&éﬁSSO‘ﬂ%ﬁ‘éﬁ#%OuEz
REEST) > HE L 2HaAf A EHMNB AR
(510-550) » H ¢S5 7 G L A 09 B AT FA e By
bEAA-ZAME - |

[0135) % —BHSI0EBERFT > EBBEHME -
HYRRES S ME > ERERES 2BMNE  LERKE
R -

(0136] % “3EHS20EEARF T ESHEEHE -
EYRRES2IBME > LEARTS22BME @ 1EH%E
R -

[0137) H=EHSIAEERF N LEBBEHE -

B36H
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EYAIFEES3ILESHE > HEeHAREms328MEm » EEIE
BRI -

[0138] BHESA0OEFERT T HEBREBME >
HyHEHES41IBEME  HEGAIRES42ENMHE > LESIE
HRE -

[0139] ZEFHFEHESSOEFERET I LBEERBME
HEYHIzESSIEMEm > HEAERmSs2EHEH » & BIE
B - B4 ERAEESSONGHAIFZEESS2EBEEES —KH

[0140) JESETTHAS60BIEEME » BN BENREAEE
S50 BB ESTOR EAEENXLEFE G RMENERE -

[0141] HE&SZ2ETIIRAUEET -

R BRETEY
f(££1H) = 10.00 mm ~ Fno(GLE/{E) = 2.80 ~ HFOV(ZLiRMA) = 14.0 &
FRTH PR EE N IR | EERE | £ER
0 b ] T IR
1 St H -0.790
2 B—FEHE 2.449 ASP 1.948 | R 1.544 55.9 4.56
3 157.474 ASP 0.377
. 4 BETESH | 2277 ASP 0.451 BB 1.660 20.4 -5.27
5 -7.114 ASP 0.162
6 H=3 8.809 ASP 0.614 YEIR 1.660 20.4 19.57
7 26.931 ASP 0.268
8 HIUHESE | -3.197 ASP 0.724 YEIR 1.660 20.4 45.74
9 -3.151 ASP 0.392
10 BB | -25.723 ASP 0.445 R 1.544 55.9 -17.76
11 15.559 ASP 0.500
12 LT FH 10210 33 1.517 64.2
13 Z5TE 3.756
14 FETE ) FH
ZEZ W EE d-line 587.6 nm
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=+ FEERERE
= 2 3 4 | 5 6
= 3.4825E-01 -9.9000E+01 -1.6707E+01 -5.6125E+01 3.1153E+01
- A4= -3.1540E-03 3.2221E-02 1.1728E-01 3.3728E-01 7.8446E-02
A6 = 2.8498E-04 -8.6956E-03 -1.2785E-01 -4.3295E-01 -2.2635E-01
A8 = -5.3145E-04 -6.3796E-03 6.2301E-02 3.4406E-01 2.3119E-01
Al0= 1.4765E-04 5.5828E-03 -1.2241E-02 -1.8195E-01 -1.4772E-01
Al2= -2.3018E-05 -9.2421E-04 3.0213E-04 6.4051E-02 ' 5.8334E-02
Al4= -1.0436E-02 -9.5736E-03
FKHE 7 8 9 10 11
= 1.8397E+01 -6.2153E+00 -4.1401E+00 8.9439E+01 7.5519E+01
Ad= -3.1844E-02 4.8784E-02 2.4205E-02 -1.1385E-01 -1.0901E-01
A6 = -3.3216E-02 -6.5104E-02 -2.5368E-02 7.6606E-03 3.2419E-02
A8 = 7.9509E-02 1.2279E-01 4.9285E-02 3.2033E-02 -6.1525E-03
Al0= -5.3637E-02 -1.0368E-01 -4.1534E-02 -3.2357E-02 -2.7516E-03
- . Al2= 1.2629E-02 3.8244E-02 1.5078E-02 1.1318E-02 1.5909E-03
Al4 = -5.2081E-03 -1.9137E-03 -1.1833E-03 -2.2988E-04
[0142) ZEHEMHIF > IJEFREE MR TEXRRAE
—ERGIHTER - Bhoh - TR B E 5 — U A
B > AL -
[0143] FEERNARETAIHEDR T IIEE
5 18 Bl
f [mm] 10.00 SCT/ZAT 3.49
. Fno 2.80 f/imgH 3.97
HFOV [F£] 14.0 fITD 1.86
V2 20.4 SD/TD 0.85
V3 20.4 BL/TD 0.83
V4 20.4 TD/TP1 -
tan(FOV) 0.53 TD/TP2 -

T23/CT1 0.08 Yo/Yi 1.03
(R3-R4)/(R3-+R4) -0.52 Y'max/Ymin 1.27
(R5+R6)/(R5-R6) -1.97 VRO -

fIR7 -3.13 VRI -

If1/£2] 0.86 T12i/T12m -
t/f4 0.22 |Dr1s/Dr2s| 0.68
£/£5 -0.56 (WPO+WPI)/f -

FI8HE
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If/F1 ]+ |02 4.09 DP/(WPO+WPI)

CTI1/(ZCT-CT1) 0.87

<ENE RG>

[0144] FBWHEIIABRELE  EFE1IABGT
RIEAFAEASNEMAN —EXLEFHERAMENTREER B
12BHAEEAKFBEANERAINIRE - G 8UKE fiif &%
- HEEILABEA A > BEARAEHAINLERERKEHDA
EHUAKRFE R EEHEE680 - SEE600 - E—F#H610 -
5 EHE620 - B SEH630  BIEH640 FEHFHG650 -
BT 660 - BEEOOLIKHBEMHO6T0  HFHXEBEFEHER
MAFBHEBEHEBAF(610-650)  HOLEHEERMKHE T E
T EERERE L EEE — AR -

[0145] 25 —BEECIOEFIEREIT 1 EBERBME
HEyEIRmEmellBimE » HeMlREel28 @A » IE& FKIE
BRE -

[0146] ZFE_—ZEHEQ20EF AR EBEBME >
EyfizmEmoe21BME » HEHIFRE22EME @ I & HIF
BRE -

[0147) B =E#H630 2B EREIT N - EBSYEHE
HEYHEIFEIIEMHE  HEMHEFREm 2EMNE @» IEFHIE
R - |

[0148] ZEVUESRC40EF AR  EBEBME -
HEYflRmEmoe4l BME > HEMHIREO2FEE @ I8 &I
BRTE -

BE39H
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[0149)] EAESHSOEFERT N EREBME -
HEyElFEEeS1BME » HefRmes2RME » I8 FIE
BRI - B4k BRBHESONYEIREES I RE M EHE652
EREEL—NE -

[0150] EHITH60RIEHEME r HRENRBALEH
650G EOTOM E A EALZRFEGRMMANEIRE -

[0151] EAEHRAIWAEEGRABEAEATELEEH
680~ 690 HERBBBME - B 6301 1B Y v X & 7T
o REREBRYCRER)EEE 600G L (BN E
fld > MERCEFEERMANLE L) BHEHOOH R &

i BT T BB R IEE T 660 B A H 670 RIRY L B L
(EAERAT > RERLEEGAKENLH L) -

[0152] HEAZBE TR+ —LUREFZ -

|

|

%

Fz1+— - BANERPY
fEERE) = 9.99 mm ~ Fno(G&MElf#E) = 2.80 « HFOV(EHA) = 14.1 &
R AR B ME | EER | GEURE | IR
0 HEY IHE PR
1 R TH 5.000 BR 1.660 20.4
. 2 PN 1.015
3 S ~HE -0.715
4 BB 2.609 ASP 2.365 bzl 1.544 55.9 4.76
5 -207.479 ASP 0.369
6 B 2261 ASP 0.400 2] d 1.660 20.4 5.5
7 -6.409 ASP 0.162
8 E=EE 9.673 ASP 0.498 B 1.660 20.4 9.61
9 -18.035 ASP 0.373
10 BIUES -1.998 ASP 0.500 p2)ie 1.660 20.4 -15.19
11 -2.744 ASP 0.062
12 BRESR 53.262 ASP 0.400 B 1.544 55.9 -37.37
13 14.668 ASP 0.200
14 T TE 0.210 W3 1.517 64.2
15 N 0.200

B40H
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| 16 iR FHE 5.100 Ll 1.544 55.9 -
17 25T 0.596
18 FABTE TH -
S R (d-line)£S 587.6 nm
P85 (680 ~ 690)F 8 B AT
x 1T FEERERE
KM 4 5 6 7 8
= 3.4417E-01 -9.9000E+01 -1.4120E+01 -5.6125E+01 2.8852E+01
Ad= -2.3366E-03 2.3148E-02 1.0681E-01 3.2173E-01 1.2921E-01
A6 = -6.3911E-05 -4.5544E-03 -1.2681E-01 -4.7007E-01 -3.4199E-01
A8 = -2.4564E-04 -7.7864E-03 7.2326E-02 4.2120E-01 3.6096E-01
Al0= 6.2732E-05 6.7844E-03 -1.7649E-02 -2.5563E-01 -2.5234E-01
- . Al2= -1.2454E-05 -1.4899E-03 1.0804E-03 9.7661E-02 1.0623E-01
Al4= -1.6417E-02 -1.8299E-02
F=HE 9 10 11 12 13
= 3.8268E+01 -3.3411E+00 -2.4406E+00 8.9439E+01 7.2024E+01
A4 = 3.6688E-03 6.1062E-02 3.1336E-02 -1.4747E-01 -1.1185E-01
A6 = -1.0435E-01 -1.3799E-01 -1.3345E-02 1.1362E-01 6.6739E-02
A8 = 1.0862E-01 2.0638E-01 2.3520E-02 -1.0036E-01 -4.9355E-02
Al0= -2.7259E-02 -1.3279E-01 -2.1049E-02 4.8920E-02 2.3994E-02
Al2= -9.4132E-03 3.8403E-02 8.3481E-03 -9.9620E-03 -6.1131E-03
Al4= 4.7471E-03 -4.2489E-03 -1.2780E-03 6.6191E-04 6.3677E-04
[0153] EAEROIF » FEREHOHKRGTEAXRTAE
® —BHONER - B TR EEZEHEE —ERHIH

[/ > RN U AL

[0154) EE &+ —RETZAHEL TIEE -
FENE
f [mm)] 9.99 ECT/ZAT 431
Fno 2.80 f/imgH 3.97
HFOV [E] 14.1 f/TD 1.95
V2 20.4 SD/TD 0.86
V3 20.4 BL/TD 1.23
V4 20.4 TD/TP1 1.03
tan(FOV) 0.54 TD/TP2 1.01
T23/CT1 0.07 Yo/Yi 1.06

BUNE
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(R3-R4)/(R3+R4) -0.48 Ymax/Ymin 1.29
(R5+R6)/(R5-R6) -0.30 VRO 20.4
f/R7 -5.00 VRI 55.9

I£1/£2] 0.86 T12i/T12m
f/t4 -0.66 IDrls/Dr2s] 0.43
£/£5 -0.27 (WPO+WPI)/f 1.01
/£1 [+ 3.92 DP/(WPO+WPI) 0.60

CT1/(ZCT-CT1) 1.32

[0155] ERA2EEIBELSEIICHE L5118
B B35 11 Cl 4 B 48 7R A B | LA B35 5 o 066 1 29 3 28 4
@ EIEMESETAVREBRESROBBECL « 690H RS
- 511 BE R 11 CHE 680 - 6901558 5 ik o 6
st — B SE680 - 690AHF » 35 B fF B KLY IR B
B 30 A B 1 B % AL A B O S B
BT R TE 670K B e B B 1 - HI R & R E
SHLONGERRETRE - EA— B0 S1IBE
o E U B T (RS 6 8.0) A B Y — A B B ph 2 0 R
B T (B 65 690) 1 BT 5 — HI B 1 14 5B 8 2 S8 B B9 ) —

® .

[=nd

<HLEHEH>
FZ2REA13AE - F14ABELIKE14BE > K
TEHRIBAEGRNEKBRAZWELCERIN—ELEREGR
MK TREE  FI4ABBREEGRFREBECEHOIEEH
BRAEEDESER A (Infinity) BERZE - GEUL Edh dh iR
 BIABEHAELGRFRECHEBICLERGRKHEY

[0156]

p={11(}

iz

FANH
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FBA00 mmAY Bk Z - GBI K EMMERE - HEI3AEB T
BECERANALEEERAMEHYVHERAKE R AHE
SHEHETR0 ~ HET700 - FE—FEHET7I0 FEFEHET20 - FE=
FEHET30 - BIUESFET40 ~ FAFEHFHT50 ~ TIHRILHT60 ~ &
BII0LL R GET770 » EF X EFHEAREATEHEEE
TR (710-750) » HtE2BBERRMETE - HBNEHRBAR
el R RS —ZERER

[0157) 5 —FEHE7I0EBFEREN T EEEBEME
Hy@REm71II80E  HGART7I280H  EHERBIE
RE - REHESN T B-ERTIOBBHHKESH > BY
IS B HTI0HEE S B HI20ME B - SI3AH
o E-FEBETION ANETHENREEJMENE —EH
7203 KL E) -

(0158 ZE—ZFEH720EF AR HREBME
HYyREE21HME > RGART722H80H > HEHEHBIE
BRHE -

[0159) E=FBH730EEFEEI T HBHEBME
HYRIERE73I RO E > EGAREm73280E @ ERBIE
BRTHE -

[0160] Z5IUESHT40EFAREIT L - AREBEME -
HYREE74IRME > EGART 7428508 @ & RBIE
BRE -

[0161] EFHFEHETISOEBFERIT T EBYERBME
HYBIRETS IR O E - HGQARE7S2EME - 16&BIE

B43H
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BT - B4l BEEHEIS0OMYEIRETS I REAIEETS2
® e E D — RHE

[0162] WEETHTOBKBHE  HRABNEABH
TSOR RAEE 770 BT EEHEEE R AN EE -

[0163) %5 = BF Bt 01 £ S 52 8 15 78 45 AL P 4 2 4 2
780~ 790 EEBEBHME - BE T80T H B WK H T
e RER BB GRAGT) BB 700 IR LB L (B £ B
Bl B ER SR GR KA L) BET0T RS &
U B T 0 BRI AV OK TC R 760 B B R TE 77 0 R S B b
(BEERA+T  RERLSEERSMENLHE) -

(0164] ERESBRETIIERTZLRFEFM -

x+= - FEEHPY
f(EEFR) = 9.99 mm / 9.79 mm ~ Fno(3%HE{E) = 2.80 - HFOV(&4RiRA) =141 E /139 F
BEE
xH R4 e i | | B | PTHIR | BEURE | FEEE
BB | BB
0 Y TH &R | 400.000
1 i TH 5.000 BE 1.660 20.4
2 ~H 1.024
3 HHE @ -0.724 .
. s AL ASP 2.106 g 1.544 55.9 4.62
5 -49.903 ASP 0.367 0.420
6 EEE | -2.193 ASP 0.461 HR 1.660 20.4 -5.24
7 -6.505 ASP 0.144
8 B=F5% 8.550 ASP 0.626 B 1.660 20.4 6.71
9 -8.918 ASP 0.348
10 | BBVUESH -1.946 ASP 0.514 o273 1.615 26.0 -6.46
11 -4.198 ASP 0.126
12 | BAEH 11.083 ASP 0.441 R 1.544 55.9 66.19
13 15.791 ASP 0.200
14 | BT T 0.210 R 1.517 64.2
15 7~H 0.200
16 o) TN 5.100 #HE 1.544 55.9
17 T 0.682 0.685

H44E
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18

BT

&

.| E (d-line) B 587.6 nm

ZHEEE(780 ~ 790) T BA RATE

€2 HFOV H7c 27543 BIFRYIRERL Infinity 82 400mm jRREZ B

R+~ FEREREL

FHE 4 5 6 7 8
= 3.2170E-01 4.6331E+01 -1.3677E+01 -4.7935E+01 2.7944E+01
Ad= -2.2026E-03 1.9264E-02 7.6874E-02 2.8271E-01 7.5942E-02
A6= 5.9217E-05 -2.0933E-03 -6.6196E-02 -3.6008E-01 -2.2878E-01
A8= -1.7406E-04 1.1625E-03 3.2657E-02 2.9193E-01 2.0959E-01
Al0= 4.4954E-05 -3.8814E-04 -7.6745E-03 -1.6195E-01 -1.1951E-01
Al2= -5.9234E-06 3.2638E-04 6.9543E-04 5.5728E-02 4.3388E-02
Al4= -8.2978E-03 -6.7369E-03

FRIE 9 10 11 12 13
= 3.0324E+01 -4.0348E+00 -1.6120E+01 -6.8825E+00 7.2913E+01
Ad= -5.2530E-02 2.1838E-02 3.0780E-02 -1.0981E-01 -8.4919E-02
A6= -1.0620E-03 4.2724E-03 4.6343E-02 7.4213E-02 3.4875E-02
A8 = 3.4280E-02 4.0614E-02 -7.2748E-02 -8.9219E-02 -2.9555E-02
Al0= -5.0550E-03 -4.4695E-02 4.0027E-02 5.2804E-02 1.6995E-02
Al2= -7.0112E-03 1.6927E-02 -1.0491E-02 -1.3026E-02 -4.7038E-03
Al4= 2.4665E-03 -2.6940E-03 1.0746E-03 1.1762E-03 5.2824E-04

(01651 ZEHEMEH + - FEREOHHEATEXRANE

—EBRAINER - 4 TRZ2HTELERE B X
® B_ERAFEEL PN ERMERE > AL MEIEL - K5
I W E BB R > HAEZE A DA RYERInfinity &

400mmiRRE B & -
[0166) i & FRT=RFTFHAHELTIIEIE
5 E i

f [mm] 9.99/9.79 SCT/ZAT 421/4.00

Fno 2.80 f/ImgH 3.96/3.88

HFOV [f] 14.1/13.9 f/TD 1.95/1.89

V2 204 SD/TD 0.86/0.86

V3 20.4 BL/TD 1.25/1.23

V4 26.0 TD/TP1 1.03/1.04

BASH
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tan(FOV) 0.54/0.53 TD/TP2 1.01/1.02
T23/CT1 0.07 Yo/Yi 1.05/1.07
(R3-R4)/(R3+R4) -0.50 Ymax/Ymin 1.26/1.28
(R5+R6)/(R5-R6) -0.02 VRO 20.4
f/R7 -5.13/-5.03 VRI 55.9
If1/£2| 0.88 T12i/T12m 0.87
£/£4 -1.55/-1.52 IDr1s/Dr2s| 0.52
£/£5 0.15/0.15 (WPO+WPI)/f 1.01/1.03
IE/£1HE/E2] 4.07/3.99 DP/(WPO-+WPI) 0.60 / 0.60
CT1/(ZCT-CT1) 1.03

[0167) HEASZ2HEI3BE KE13CHE » HHE13B
B I13CE SR KRB IBABRSE CERAINtER
GRFHEEREAAEREBE AR BEHFETE0 ~ 79089/ E
- BI13BEIKEI3CEFHESHTS0 ~ TI0R L2 ERE
B P = hEIREHET80 ~ TO0MMA - ZEREENARK

B R 7 N A A BT R B G R A BY A B Ol S B B
BB BRGETTOM H LR ER - FRE S ZBER
ELHEAWNGEEREFLEE - FI3BET - YRS
T (BT8O AR — ASNE BB K RS TH (R

790) BT Y — I B AL A B8R L BRI A — ] -

<Z \EFEpl>
[0168] /& MEE1SHE @ RiGRRBAZEYEE /VE K
M—EETEBIO0NTRER - HNEBINETERE
1000 S MGERE1100 > GEEIIOESLEFBERMK
A(RESFHUREFRETAHLILII HFETFREXITHF
IR ERAEBEGRAMENREHEL170 - LEFERKM

\

46 H

=
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e B A 0 S B R LS R S T~ B B
RGMEETE  ERIGEE1I1000 2GR HaT
B g —E O E S 'R T2 2 E G R T
T — % MENERI S LEEGRRMANE PR —H i
Bz e me R FaaE SMEBESSEISERBUT -
[0169) &5 /4 Ha 3] i 3% B2 48 15 3 i 4L D 0 0 I B TG 44
Rt R TS BB 180 R B 190 > Kby K
T (R 180) B Y A LM ERBEBH - GRS
@ EACEHEI)EREEIIS0Z RN IEEE S - L
BerGEnEREESENaYHEGUKRFBE B
110~ 5B % $5120  E=FEE 130 FNFEHI40LL KB L
EHI150 0 BFEAE —HE100RBRIBHISEE —FEH
1102 R DIRIENRTH160RBRELBHEISOEBEHE1I0
SR BB LREGRRAS BN RE S
Wi BRiRE LR ES — I AT S A AR I 0 R IR B
ik
® (0170] FE1SE A - &\ HHEHHWETFE1000
WA ERE S Tmax » HTmax = 7.46mm > [ 25 /\E H& 4
FICERGRSANEES] > Hf=10.00 mm - # > &
HEE10000 B A EENALEBEGRHHENEE(Tmax <
f) o
[0171) 5341 » &5 \E G R IR EEE 1100 » AT FE
BELERARRANITLEERBE PIUBELSY

gl = 1= ]
BiEE: °

BATH
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<HNE >
[0172] B2 RE1I6E » RETREAZHE LB
) —FEETFHEE2000RER - FALERPINE TERE
20002 — FHEAFH > ETEB20008FHHEEEE2100 -
WMEEE2IO0BEKBEARAFHNLEEGRFEME (BXRB
R UERBFREATH (BRBR) » HRFETROEILHK
BEREEFGRMENXREH -

E-TE o>
| 2IREITE - FERNKBAFHEA TS
M —FEE FHEEINRER - B +ERINE TRE
3000 —FIREM > ETFHEE3000EFTNEIEE3L00 5
BEEE3000U S RIBAFHNLERGRKME (BIRBR)
URETFRBETSE (BRER) EREFRETHERER
HEBEGRFENRET -

)
=
~
OV

D

uun

\\,ib

<B+—H > |
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S5 [ 72445 ) Optical Photographing Assembly,

x Image Capturing Apparatus and Electronic Device
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An optical photographing assembly includes, in
. order from an object side to an image side along an
optical axis, a first lens element, a second lens
element, a third lens element, a fourth lens element
and a fifth lens element. The first lens element has
positive refractive power. At least one of an
object-side surface and an image-side surface of the
third lens element is aspheric. At least one of an

object-side surface and an image-side surface of the
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fourth lens element is aspheric. At least one of an
object-side surface and an image-side surface of the
fifth lens element is aspheric and includes at least
one inflection point. When the specific conditions
of the optical photographing assembly are satisfied,
both of the telephoto function and compact size

characteristic can be obtained.
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fourth lens element is aspheric. At least one of an
object-side surface and an image-side surface of the
fifth lens element is aspheric and includes at least
one inflection point. When the specific conditions
of the optical photographing assembly are satisfied,
both of the telephoto function and compact size

characteristic can be obtained.
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A6 = -1.1714E-01 -1.4157E-01 -1.7387E-02 1.0666E-01 6.5071E-02
A8 = 1.2701E-01 2.1595E-01 3.2344E-02 -8.9684E-02 -4.6684E-02
Al0= -3.9988E-02 -1.4170E-01 -2.8165E-02 4.1819E-02 2.2430E-02
Al2= -5.3049E-03 4.2022E-02 1.0910E-02 -7.7463E-03 -5.6644E-03
Ald= 4.2574E-03 -4.7881E-03 -1.6218E-03 3.9728E-04 5.8335E-04
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